
Q.1 Which of the following is an instrument of monetary policy of RBI?
I. Reverse Repo Rate
II. Corridor

Ans 1. Only II

2. Both I and II

3. Only I

4. Neither I nor II

Question ID : 54062621960
Status : Answered

Chosen Option : 3

Q.2 Which city will host 2022 Commonwealth Games?
Ans 1. Glasgow

2. Melbourne

3. Birmingham

4. Gold Coast

Question ID : 54062621970
Status : Answered

Chosen Option : 3

Q.3 World’s largest floating solar project is being setup in ______.
Ans 1. Madhya Pradesh

2. Karnataka

3. Odisha

4. Punjab

Question ID : 54062621968
Status : Answered

Chosen Option : 2
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Q.4 Which of the following organisations publishes the ‘Red List’ of threatened species?
Ans 1. WWF

2. International Atomic Energy Agency

3. Amnesty International

4. International Union for Conservation of Nature

Question ID : 54062621964
Status : Answered

Chosen Option : 4

Q.5 What is the name of Indian Railways longest freight train which created a new record
in January 2021, in SECR zone?

Ans 1. Vasuki

2. Gatimaan

3. Red star

4. Blue Fame

Question ID : 54062621967
Status : Answered

Chosen Option : 1

Q.6 The book ‘Bapu-the Unforgettable’ is launched by the Deputy CM of which state?
Ans 1. Delhi

2. Gujarat

3. Andhra Pradesh

4. Haryana

Question ID : 54062621963
Status : Answered

Chosen Option : 1

Q.7 Which is the largest peninsular river in India?
Ans 1. Godavari

2. Kaveri

3. Mahanadi

4. Krishna

Question ID : 54062621961
Status : Answered

Chosen Option : 1

Q.8 Fiftieth amendment of Indian constitution happened in which year?
Ans 1. 1988

2. 1984

3. 1981

4. 1983

Question ID : 54062621969
Status : Answered

Chosen Option : 3

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q.9 The Veda Samaj was established in ______.
Ans 1. Bombay

2. Hyderabad

3. Calcutta

4. Madras

Question ID : 54062621962
Status : Answered

Chosen Option : 3

Q.10 In which of the following cities, the first pollinator park has been opened?
Ans 1. Haldwani

2. Varanasi

3. Kolkata

4. Bangalore

Question ID : 54062621966
Status : Answered

Chosen Option : 1

Q.11 Which of the following pair of festivals is correct?
I. Loosong – Sikkim
II. Onam – Kerala

Ans 1. Both I and II

2. Only II

3. Only I

4. Neither I nor II

Question ID : 54062621959
Status : Answered

Chosen Option : 1

Q.12 The Moderna vaccine developed against coronavirus uses which of the following
vaccines technology?

Ans 1. Viral Vector

2. Synthetic mRNA

3. Whole Microbe

4. Protein Subunit

Question ID : 54062621965
Status : Answered

Chosen Option : 2

Q.1 In a certain code language, ‘GRABPONT’ is written as ‘NTIVVGLM’. What is the code
for ‘TMVLRBDE’ in that code language?

Ans 1. YJVXFBGZ

2. YJVXFBHG

3. VJVYFBGZ

4. YJUXFBGZ

Question ID : 54062621975
Status : Answered

Chosen Option : 1

Section : Logical reasoning
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Q.2 A series is given with one term wrong. Select that wrong term from the given
alternatives.
49, 74, 123, 244, 413, 692

Ans 1. 413

2. 123

3. 692

4. 49

Question ID : 54062621979
Status : Answered

Chosen Option : 3

Q.3 In a certain code language, ‘Black and red’ is written as ‘pg fu la’, ‘car white blue red is
written as ‘# fp lm la’. What is the code for ‘white blue’ in that code language?

Ans 1. fp lm

2. fu fp

3. # pg

4. la #

Question ID : 54062621974
Status : Answered

Chosen Option : 1

Q.4 There are eight cars A, B, C, D, E, F, G and H. Each car has a different price. Price of C
is more than that of A and D. Price of atleast two cars is less than A. Price of F is more
than that of G and H. Price of D is less than G, but more than E. Price of B is less than
H, but more than G. Price of atleast four cars is more than that of C.
Which of the following sequence is correct?

Ans 1. F > H > B > G > C > A > E > D

2. F > H > B > G > C > D > A > E

3. F > H > B > G > C > A > D > E

4. F > H > G > B > C > A > D > E

Question ID : 54062621976
Status : Answered

Chosen Option : 3

Q.5 In the following question, select the number which can be placed at the sign of
question mark (?) from the given alternatives.

Ans 1. 585

2. 610

3. 635

4. 560

Question ID : 54062621978
Status : Answered

Chosen Option : 3
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Q.6 A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.
TR, WO, ZL, ?, FF

Ans 1. CI

2. DI

3. DJ

4. CH

Question ID : 54062621971
Status : Answered

Chosen Option : 1

Q.7 In the following question, a group of letters is given. The letters of each group are
related with the letters of the same group by some Logic/Rule/Relation. From the given
alternatives, select a group of letters which follows the same Logic/Rule/Relation.
(ABL, YZM, WXN)

Ans 1. (UXC, SVD, QSE)

2. (LVB, JXC, HTD)

3. (ECK, CAL, AYN)

4. (ONM, MLN, KJO)

Question ID : 54062621973
Status : Answered

Chosen Option : 4

Q.8 Which answer figure will complete the pattern in the question figure?

Ans

1. 

2. 

3. 

4. 

Question ID : 54062621981
Status : Answered

Chosen Option : 4
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Q.9 How many car are not triangle?

Ans 1. 11

2. 15

3. 19

4. 17

Question ID : 54062621980
Status : Answered

Chosen Option : 3

Q.10 Three positions of a dice are given below. According to these three positions, what will
can in the place of ‘?’.

I. B, R
II. H, M

Ans 1. Neither I nor II

2. Both I and II

3. Only I

4. Only II

Question ID : 54062621982
Status : Answered

Chosen Option : 3

Q.11 In the following question, four letter pairs are given. The letters on left side of (–) is
related to the letters on the right side of (–) with some Logic/Rule/Relation. Three are
similar on basis of same Logic/Rule/Relation. Select the odd one out from the given
alternatives.

Ans 1. TF – YK

2. RP – MU

3. VB – AG

4. GM – LR

Question ID : 54062621972
Status : Answered

Chosen Option : 2
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Q.12 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.

Statements:
I. All M are C.
II. No X is M.

Conclusions:
I. Some C are not X.
II. Some M are not X.
III. Some C are M.

Ans 1. Neither conclusion follows

2. All conclusions follows

3. Both conclusions I and III follows

4. Both conclusions II and III follows

Question ID : 54062621977
Status : Answered

Chosen Option : 4

Q.1 The bar graph given below shows the production of paper (in lakh tonnes) by two
different companies L and M for the given years.

J1 = Average production by company L from 1996 to 2000
J2 = Average production by company M from 1996 to 1999
What is the value of J1 – J2?

Ans 1. 1.75

2. 1.5

3. 2.75

4. 2.25

Question ID : 54062622005
Status : Answered

Chosen Option : 1

Section : Numerical Ability
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Q.2 8 men or 12 boys can complete a work in 192 days. 24 men and 28 boys will complete
the same work in how many days?

Ans 1. 36 days

2. 92 days

3. 48 days

4. 72 days

Question ID : 54062621998
Status : Answered

Chosen Option : 1

Q.3 The simple interest received on a sum at the rate of 4 percent per annum is 3/5 of the
sum. What is the time period?

Ans 1. 10 years

2. 20 years

3. 12 years

4. 15 years

Question ID : 54062621993
Status : Answered

Chosen Option : 4

Q.4 If Rs. 4000 becomes Rs. 5760 in 2 years at compound interest (compounded annually),
then what is the annual rate of interest?

Ans 1. 25 percent

2. 10 percent

3. 15 percent

4. 20 percent

Question ID : 54062621994
Status : Answered

Chosen Option : 4

Q.5 A man earns a profit of 10 percent by selling a mobile for a certain price. If he sells that
mobile at double the price, then what will be the profit percentage?

Ans 1. 20 percent

2. 110 percent

3. 120 percent

4. 140 percent

Question ID : 54062621989
Status : Answered

Chosen Option : 3

Q.6 If a boy runs at the speed of 20 km/hr and crosses a bridge in 15 minutes, then what is
the length of the bridge?

Ans 1. 5000 metres

2. 4500 metres

3. 5500 metres

4. 6000 metres

Question ID : 54062621995
Status : Answered

Chosen Option : 1
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Q.7 B is 25 percent more than C and C is 73 percent less than D. If B is 729, then what is
the value of D?

Ans 1. 2100

2. 2610

3. 2160

4. 2660

Question ID : 54062621987
Status : Answered

Chosen Option : 3

Q.8 A group of boys has an average weight of 44 kg. One boy weighing 50 kg leaves the
group and another boy weighing 40 kg joins the group. If now the average weight of
group is 42 kg, then how many boys are there in the group?

Ans 1. 4

2. 7

3. 9

4. 5

Question ID : 54062621985
Status : Answered

Chosen Option : 4

Q.9 The pie chart given below shows the number of students in seven different institutes
in a town. Total number of students in all the seven institutes is 168000. The number of
students in a particular institute is shown as a percent of total number of students in
all these seven institutes.

Which of the following statement(s) is/are correct?
I. Number of students in Institute A and B together is 20160 more than the number of
students in institute F and G together.
II. Ratio of number of students in institute A to the number of students in institute C is
6 : 5 respectively.

Ans 1. Neither I nor II

2. Both I and II

3. Only I

4. Only II

Question ID : 54062622001
Status : Answered

Chosen Option : 3
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Q.10 If X : Y = 5 : 4, then what is the value of X + Y : Y?
Ans 1. 7 : 4

2. 9 : 5

3. 4 : 5

4. 9 : 4

Question ID : 54062621991
Status : Answered

Chosen Option : 4

Q.11 Three metallic cubes whose sides are 15 cm, 20 cm and 25 cm respectively are melted
and converted into a single cube. If there is no loss of metal in this process, then what
is the length of the side of the new cube?

Ans 1. 24 cm

2. 32 cm

3. 30 cm

4. 28 cm

Question ID : 54062622000
Status : Answered

Chosen Option : 3

Q.12 X, Y and Z together can complete a work in 15 days. X and Y together can complete the
same work in 30 days. Z alone can finish the same work in how many days?

Ans 1. 45 days

2. 35 days

3. 30 days

4. 40 days

Question ID : 54062621997
Status : Answered

Chosen Option : 3

Q.13 Rahul spends some part of his income and saves the remaining part. The ratio of his
expenditure and saving is 3 : 4 respectively. If Rahul’s income is Rs. 56000, then what
will be his expenditure?

Ans 1. Rs. 16000

2. Rs. 32000

3. Rs. 24000

4. Rs. 8000

Question ID : 54062621992
Status : Answered

Chosen Option : 3
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Q.14 Table given below shows the cost price and selling price of five different articles.

Which of the following is correct order of profit percentage?
Ans 1. C < A < E < B < D

2. E < B < A < C < D

3. A < E < B < C < D

4. B < C < D < A < E

Question ID : 54062622003
Status : Answered

Chosen Option : 1

Q.15 Mohan bought a new car from the showroom and after one year he sold it to Shyam at
a profit of 20 percent. Shyam sold the same car to Sumit at the loss of 30 percent.
Finally Sumit paid Rs. 67200 for this car. At what price Mohan bought the car?

Ans 1. Rs. 72000

2. Rs. 85000

3. Rs. 80000

4. Rs. 88000

Question ID : 54062621990
Status : Answered

Chosen Option : 3
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Q.16 The bar graph given below shows the production of sugar (in lakh tonnes) by two
different companies P and Q for the given years.

J1 = percentage increase in production of sugar of company P from 1991 to 1995
J2 = percentage increase in production of sugar of company Q from 1992 to 1994
What is the value of J1 + J2?

Ans 1. 86.22 percent

2. 48 percent

3. 80.11 percent

4. 76.11 percent

Question ID : 54062622004
Status : Answered

Chosen Option : 3

Q.17 The pie chart given below shows the population of seven villages in 2005. Total
population of all the seven villages is 137000. Population in a particular village is
shown as a percent of total population in all these seven villages.

Which of the following statement(s) is/are correct?
I. Population of village S is 33.33 percent more than the population of village R.
II. If population of village S increases by 20 percent in 2006 then population in 2006 will
be 19728.

Ans 1. Neither I nor II

2. Both I and II

3. Only I

4. Only II

Question ID : 54062622002
Status : Answered

Chosen Option : 2
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Q.18 In a division the quotient is 12, the divisor is 15 and the remainder is 7. What is the
dividend?

Ans 1. 187

2. 190

3. 180

4. 197

Question ID : 54062621983
Status : Answered

Chosen Option : 1

Q.19 Ram makes four trips of equal distances. His speed on first trip was 120 km/hr and in
each subsequent trip his speed was half of the previous trip. What is the average
speed of Ram in these four trips?

Ans 1. 16 km/hr

2. 32 km/hr

3. 64 km/hr

4. 35 km/hr

Question ID : 54062621996
Status : Answered

Chosen Option : 2

Q.20 The line chart given below shows the cost price and selling price of 7 articles.

J1 = Average cost price per article
J2 = Total value of profit earned on article A, B and C
What is the respective ratio of J1 and J2?

Ans 1. 11 : 6

2. 6 : 13

3. 13 : 6

4. 5 : 13

Question ID : 54062622006
Status : Answered

Chosen Option : 1
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Q.21 The average height of two men P and Q is 167 cm. Another man R Joins them and the
average height of P, Q and R becomes 162 cm. If another man S whose height is 17 cm
more than that of R replaces P, then the average height of Q, R and S becomes 157 cm.
What is the height of P?

Ans 1. 180 cm

2. 184 cm

3. 183 cm

4. 182 cm

Question ID : 54062621986
Status : Answered

Chosen Option : 2

Q.22 L’s income is 125 percent of M’s income and L’s expenditure is 120 percent of M’s
expenditure. If L’s income is 180 percent of M’s expenditure, then what is the
respective ratio of L’s savings and M’s savings?

Ans 1. 12 : 5

2. 17 : 23

3. 5 : 9

4. 15 : 11

Question ID : 54062621988
Status : Answered

Chosen Option : 4

Q.23 The length of the side of a cube is 7 cm. What is the total surface area of the cube?
Ans 1. 204 cm2

2. 294 cm2

3. 225 cm2

4. 192 cm2

Question ID : 54062621999
Status : Answered

Chosen Option : 2

Q.24 What least number must be subtracted from 5224 to get a number exactly divisible by
43?

Ans 1. 23

2. 33

3. 21

4. 37

Question ID : 54062621984
Status : Answered

Chosen Option : 3

Section : General Science
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Q.1 Which of the following statement(s) is/are true?
I. Air expands on heating
II. The warm air is heavier than the cold air

Ans 1. Neither I nor II

2. Both I and II

3. Only I

4. Only II

Question ID : 54062622014
Status : Answered

Chosen Option : 3

Q.2 Which of the following is not an equation of motion?
Ans 1. v – u = at

2. s = ut + [(at2)/2]

3. s = v – u

4. 2as = v2 – u2

Question ID : 54062622008
Status : Answered

Chosen Option : 3

Q.3 Which of the following statement(s) is/are true?
I. During inhalation ribs move out
II. During exhalation ribs move in

Ans 1. Only I

2. Only II

3. Neither I nor II

4. Both I and II

Question ID : 54062622030
Status : Answered

Chosen Option : 4

Q.4 Bleaching powder is represented as ______.
Ans 1. CaOCl

2. CaO2

3. CaCl2

4. CaOCl2

Question ID : 54062622021
Status : Answered

Chosen Option : 4

Q.5 The process by which heat is transferred from the hotter end to the colder end of an
object is known as ______.

Ans 1. conduction

2. radiation

3. convection

4. evaporation

Question ID : 54062622015
Status : Answered

Chosen Option : 2
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Q.6 What is the name of the protein digesting enzyme released by the gastric glands?
Ans 1. Pepsin

2. Lipase

3. Amylase

4. Protease

Question ID : 54062622026
Status : Answered

Chosen Option : 1

Q.7 Which of the following statement is correct?
I. Speed of sound in steel is more than the speed of sound in glass.
II. Speed of sound in brass is more than helium.

Ans 1. Both I and II

2. Only I

3. Only II

4. Neither I nor II

Question ID : 54062622011
Status : Answered

Chosen Option : 1

Q.8 Which of the following statement is correct?
I. Blood is a type of connective tissue
II. Bone is a type of connective tissue

Ans 1. Both I and II

2. Only II

3. Only I

4. Neither I nor II

Question ID : 54062622028
Status : Answered

Chosen Option : 3

Q.9 Mass of an object on earth is 12. What is its weight on moon?
Ans 1. 12

2. 14.8

3. 24.4

4. 19.6

Question ID : 54062622009
Status : Answered

Chosen Option : 4

Q.10 Organisms have been divided into how many kingdoms?
Ans 1. 6

2. 5

3. 7

4. 4

Question ID : 54062622025
Status : Answered

Chosen Option : 2
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Q.11 Which of the following is correct regarding frequency?
I. Frequency is expressed in hertz
II. A frequency of 1 Hz is one oscillation per minute

Ans 1. Both I and II

2. Only II

3. Only I

4. Neither I nor II

Question ID : 54062622012
Status : Answered

Chosen Option : 3

Q.12 What is the ph of lemon juice?
Ans 1. About 2.2

2. About 8.2

3. About 11.4

4. About 5.4

Question ID : 54062622020
Status : Answered

Chosen Option : 4

Q.13 Which of the following pair of microorganisms is correct?
I. Spirogyra – Algae
II. Amoeba – Fungi

Ans 1. Neither I nor II

2. Only I

3. Both I and II

4. Only II

Question ID : 54062622029
Status : Answered

Chosen Option : 3

Q.14 Which of the following statement is/are true?
I. Acids are sour in taste
II. Bases are bitter in taste

Ans 1. Both I and II

2. Only II

3. Only I

4. Neither I nor II

Question ID : 54062622017
Status : Answered

Chosen Option : 1
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Q.15 When electric current is passed through a wire, the amount of heat produced in a wire
depends upon _____.
I. Length
II. Thickness

Ans 1. Only II

2. Both I and II

3. Only I

4. Neither I nor II

Question ID : 54062622007
Status : Answered

Chosen Option : 2

Q.16 Which of the following statement is correct?
I. The property of metals by which they can be beaten into thin sheets is called
ductility.
II. The property of metal by which it can be drawn into wires is called malleability.

Ans 1. Only II

2. Both I and II

3. Only I

4. Neither I nor II

Question ID : 54062622022
Status : Answered

Chosen Option : 4

Q.17 Who discovered the neutrons?
Ans 1. J.J. Thomson

2. E. Goldstein

3. J. Chadwick

4. Niels Bohr

Question ID : 54062622018
Status : Answered

Chosen Option : 3

Q.18 Typhoid is caused by ______.
Ans 1. Bacteria

2. Virus

3. Fungi

4. Protozoans

Question ID : 54062622024
Status : Answered

Chosen Option : 1

Q.19 Which of the following reproduces using fission?
Ans 1. Rhizopus

2. Amoeba

3. Hydra

4. Planaria

Question ID : 54062622027
Status : Answered

Chosen Option : 3
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Q.20 Which of the following pair is correct?
I. Opaque – do not allow light to pass through them
II. Translucent – allow light to pass through them partially

Ans 1. Neither I nor II

2. Both I and II

3. Only II

4. Only I

Question ID : 54062622013
Status : Answered

Chosen Option : 2

Q.21 1 mole of carbon atoms = ______ g of carbon atoms
Ans 1. 4

2. 12

3. 8

4. 6

Question ID : 54062622019
Status : Answered

Chosen Option : 2

Q.22 How many major parts does brain has?
Ans 1. 4

2. 2

3. 3

4. 1

Question ID : 54062622023
Status : Answered

Chosen Option : 3

Q.23 In a concave mirror which of the following pair of position of object – position of
image is correct?
I. At C - At C
II. At F – At Infinity

Ans 1. Only II

2. Only I

3. Neither I nor II

4. Both I and II

Question ID : 54062622010
Status : Answered

Chosen Option : 4

Q.24 What is the atomic mass of carbon?
Ans 1. 14

2. 10

3. 12

4. 16

Question ID : 54062622016
Status : Answered

Chosen Option : 3
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